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m Lesson Master Questions on SPUR Objectives

See Student Edition pages 146149 for objectives.

(PROPERTIES ) Objective E .2 b.> c¢--2
1. Consider the function fwith equation f(x) = 2x* + 3x — 2. ¢4

¥ =0 2, 2
a. Findits yintercept. = = (D" 2/5) -2 = - R X= 2 “qE-
e K= By J73)P- 450> K= Bz =
b. Find its x-intercept. 2¢2Y Xz ~BDLS 4 X=2.5 x=-2
0=z 25P 2% -2 X= -5 [55 Z X=-B-—5
¢. Tell whether the graph has a maximum or minimum “ AT

¥z - (—-O,’Z“o’} '5-‘2‘5')

point and find its coordinates. x- -2 = -2
Yz H-625)" +>(-6,235) -2 27 h
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2. The table below shows the height in feet of a ball above ground level ¢ seconds
after it has been thrown from a point 5 feet above the top of a cliff.
Cz ey LSk 30
(tse) | 1] 2 3 5 6 | K= - ()£ TP gz
U ney | a0 | 427 | 412 | 286 | 175 ) ES)
=-S5 F D3R

& LOE caLca -3
a. Find the quadratic equation that fits this data. y -,
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b. How tall is the cliff? =) -4 (x:% X = 2, Descc ) A

¢. To the nearest tenth of a second, when does the

ball hit the ground? X—int (5= 7. Do sec
d. What is the maximum height reached by the ball, to 4
the nearest foot? V=—+=¢ _ =5 o 23 o £
= 1 (2.2 ko5 (D) + K X= 2~y = 7«/.9‘5 _g.138
-l 3. The inner surface of a round wooden bowl is carved so that the l"fx—’{ £
B %<2 depth measured from the top of the bowl is given by the equation T o
d = 0.622 — 5¢ + 1, where x (in inches) is the horizontal distance ! ‘é‘:;:'s
from the outer edge of the bowl. l Section
9 a. Using a graphing utility, graph the inner surface of the
% bowl. What is the appropriate domain for this function?
° O.205 £x £ g ,12%
) é b. How deep is the bowl atx = 2? C.C tmctpen ofeep
g c. How deep is the bowl at its deepest point? LAF  eten
0. 25
= d. How wide (thick) is the wood at the top of the bowl? e totes
e. What is the interior diameter at the top of the bowl? FARY — ©.2=5 = :}‘\»jgb
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